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(@) Point out a dependent adverbial clause in extract 5, and comnient on
the position of its verb. How is the principal clause affected by
the position of the dependent?

() Which class of conjunctions does not affect the position of the verd?
enumerate them; which conjunctions cause inversion of the verb?
Explain and write a sentence in illustration of each case.

Translate: Einen Augenblick sprang er wieder herein,und zweiund zwanzig
Walfe folgten ihm. Alle eilten still an das gefallene Pferd und
beginnen ihr Mahl. Da ertont ein furchtbarer Schlag—die
eisernen Thorfliigel fahren zu.

(a) Principal parts of: sprang herein, beginnen, ertont.

Translate in German: Waiter bring me [some] tea, bread and butter and two
eggs, I wish to breakfast. My watch is not wound up; 1 have
forgotten to wind it up. At what time does the concert begin?
This writer has translated Schiller’s works.

ANCIENT HISTORY.—XI.
3 to 5 p. m., Tuesday, 25 June, 1918.

eachl' Tell what you know of the divisions of the Grecian Peninsula. Describe
Ancient g}"iﬁ:'a note on the end of the Persian Empire; Or, Write a note on

3. Sketch briefly the reign of Darius I.
of ea%:.h Name the different classes in the Spartan State. Tell what vou know
Pelog'on Co_mpare the resources of Sparta and Athens at the outbreak of the

Nesian War. What event closed this war?

6. ’Pell what you know of the early history of Syria.

7. . . - . -
Sack.» ‘.Explam briefly:—The Hyksos; The Sophists; ‘Pax Romana;” ““Cos-

' “Bolsheviki."”
‘I)Jrkun'delwrite a short account of the Roman Empire, under The Antonines,

; ugust ; - rou know of the re ’ med
Taine Repfblicl,ls Caesar; Or, Tell, what you know recently forme

ALGEBRA.—XI.
9 to 11 a. m., Wednesday, 26 June, 1918.
Obtain the square root of 19— 4 v72I.
A (S y 2
b+c——(;=c+a——-b =a+b——-c

prove °

g b—c)x+c—a)y+(a—b)z=0

* Sum to # terms the series 2 + v2, 54 v6, 81 VIS 11 = v54, ete

o Write down and simplify the cocfficient of *1° i the expansion of
% 20 \
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